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Objectives

① Tie von Neumann stability
to bounding II P"QI

② Make a new method :

Lax -Wendroff

③ Quatify ware speed
and wove diffusion



















Cases (s (1)= 1 - 22 +20+ 2(v -ur) (11)
↑CosMπ

④ (s(a)) = 1

⑦ (s(b)) = 1 - 20 +22 - 28 + 202

= 1 - 48 + 48

= 4 - 2vh

IIs(p)) < 1 if) 1 - 20/2)

# 0W <

o<1





exand n(x,t) in time :

The)= a(X(t) + U+ Ky(X,t) +- -(x,) +x
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Ke + akx = 0
=> UXt = -Luxy

= U+ = -allx
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Why does the solution "smooth" out?
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-Of +ad - Daxx
=> Lz = -iwz + aikz-DLikz

= ((w + aik + Dk2)z

1 = 0

=> (i) ic
= aik +Dk

=D w = ak-Dik

w = w(k)




